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Ex.4 The Sped of sound \n 2w ab 20°Cc s 344 mjs.
2)| A=? when {=784 He
v=£2 A=V = 34m]s =|0,439m
£ 784 /s
b.) T=1 = | — l.28x;()-35 =| \.28 ms
£ 18Y /s
C.\) A=' ¥ one octave h‘\s\ncr £ 2x384 Hz
A= V. = 344 wls =|c.219 m
£ 2+ 184 /s
Ex. 8 A certain Yransverse Wave 1s deseribed b\ll.‘
v(x,t) = (é.SOmm> CoS‘?J(/ X - t \
! \28.0cm 0.03606/
a) A=7 A= &.50mm , the amplitude
b.Y N=7 A= 218.0 cm__, the waveleng‘}'})
N £ :=7 £=7FT° sosos = 2h8H2 | the frequency
\ -~ fopaxazyi
W v =2 v=fn=(228s )(o.z%m) = ?.18 m|s "spze Friew
P4
e) direction = . (o5 | 27‘( O —‘>} 2 Prooaé_a‘}'cs >R **
Hinu S S!3ﬁ
Ex. I5 One end of 2 horizontz) rope is altached  a 'bronj of an

elec}ncz)l\/ AriveV 'hxmnq Sork  that vibexles a')' 120 Hz.

{2120 He mzizf\/\/\f\

]

V:\(Z :\Zﬂlj;‘l’ ‘—ia' 50 kg (A" rE

o
UL.U

75 w5/ =g
by ) V/ o &, SCetiem m
e mes gum | then v={Z (125ws) = [293 s | Tm=1.50kg

29.%
then A= " ooz =[0.206m
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Ex.22 A piane wire with wmass 3.00 g and lens'}h 80.0 cm s sYrelehed
with = Yension of 25,0 N.
=120 ¥ Az e mm . ,
—— 2.2 =3, - -3
a)| B, =1 Juf whA =1 | 3,6x1G > kq (ZS.ON)—'(QR 1205") (l.éxsom>
2 2“ O.80m
BY| Po—7 if A-— z A Pay —> T (0.223 w\) =|©.055% W
Ex,30 Interference of Trianagulzr Pulses,  Two +r3au-,3u.\zr lpu\ses are.
+rzve)fng Foward ezach sther en a siretched spring . . .
Ar t=o0.,000s , the leadinj edges of the pulses are LOO cwm
a}?&t
Ske¥ch the shape of the siring at t=0.250s, t=0.500 s,
t=0.¥655s , t=1000s, and t=1.250s,
0.250 s 0.500 s 0.750 s 1.00s 125s
Figure 15.30
Ex, 35 Standina waves eon =z wire are described by
\!(X,?‘) = Asw(Si"(kx» 5;"(")"’-')
with  Aqw = 2,50mm , w=942 radfs, 2nd K= ©.350 7 rad
‘ 7 m
a.) Neodes eoceur ab Kx= N7t (n=0,1, 2, 3),__') X= n"r/](

X = hi

= Y n /MC,'QI‘-S) =(l'33 MXO (h=0)l)21-")
I '
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M Ct?ﬂ'}‘d
b.) Antinedes occur  al where l(X “(n+'/z37r (rz 0,1,2,...)
X=(_n+/:) = (\n+'/z)7r = 133m(n+'/> §n o,s,z)
k 2
_EX.38 A_piano tuner sitre¥ches a siee) plane wire w*ﬂx 2 Yension
of 800 N, u = 3.00%D kg = 7.50 %15 kq/M
©.400 m
adl £ =7 fo= v (a=)) f=N
' 2L 2L
Glenlzte vV, vy Tension = {3°0N | = 323 m)s
\ M V'I SOAID Tlfj/m
-S:\:- V = 32% m/s .Q‘ =409 Hz

2L 2 (o.'-lDOm>

Whzt 15 n _the h‘lﬂhes‘)' harmonic ThaY can be heard

< 10,000 Vg *

o =Fn n=4%, = \0,000Hz - 245

£ 409 Hz

The 247" harmonic is the highest harmonic Thal can be heare.

M e




